
Voron Design
Voron 0 Assembly Guide: 06. A/B Drive Units

Written By: John Gilbert

Voron 0 Assembly Guide: 06. A… Draft: 2020-08-22Guide ID: 84 -

This document was generated on 2024-01-08 11:43:51 PM (MST).

© 2024 voron.dozuki.com/ Page 1 of 6



TOOLS:
Hex Key Set or Drivers (1)

PARTS:
M3x35 BHCS × 20 (1)
F623 Bearing × 12 (1)
M3 Washer × 12  (1)
M3 Hex Nut × 4 (1)
M3x30 BHCS × 4 (1)
NEMA 14 Stepper × 2 (1)
20T Pulley × 2 (1)

Voron 0 Assembly Guide: 06. A… Draft: 2020-08-22Guide ID: 84 -

This document was generated on 2024-01-08 11:43:51 PM (MST).

© 2024 voron.dozuki.com/ Page 2 of 6

file:///Item/Hex_Key_Set_or_Drivers
file:///Item/M3x35_BHCS_%25C3%2597_20
file:///Item/F623_Bearing_%25C3%2597_12
file:///Item/M3_Washer_%25C3%2597_12
file:///Item/M3_Hex_Nut_%25C3%2597_4
file:///Item/M3x30_BHCS_%25C3%2597_4
file:///Item/NEMA_14_Stepper_%25C3%2597_2
file:///Item/20T_Pulley_%25C3%2597_2


Step 1 — Left B Drive Unit (Right A Unit is Mirrored)

  

This step shows the assembly of the left drive unit. The right drive unit is assembled similarly with
the bearing stacks flipped.



The screws in the first illustration are used as mounting shafts for the pulleys.

Take careful note of the bearing stack order with associated washers.

Check that the 9mm printed spacer is indeed 9mm. If not, re-print it.

In the last illustration, M3 nuts are pressed by hand into the printed part. If the press is difficult, you
can use parallel jaw pliers to assist, but be careful, and check for stress marks in the plastic. If
these marks are severe, you will have to re-print the part.



Voron 0 Assembly Guide: 06. A… Draft: 2020-08-22Guide ID: 84 -

This document was generated on 2024-01-08 11:43:51 PM (MST).

© 2024 voron.dozuki.com/ Page 3 of 6



Step 2 — Left B Drive Unit Motor Attachment

 

Note pulley orientation for the left B unit. The right A unit will be flipped.

Thread locking compound is used on the pulley set screws. Align the pulley, first, with the
corresponding pulley stack. Lightly snug one set screw. Apply locking compound to the other
screw and secure tightly, then remove previous screw and tighten it up similarly with compound.



Secure the motor with indicated screws.

Voron 0 Assembly Guide: 06. A… Draft: 2020-08-22Guide ID: 84 -

This document was generated on 2024-01-08 11:43:51 PM (MST).

© 2024 voron.dozuki.com/ Page 4 of 6



Step 3 — Attach Drive Units to Frame

After having assembled both drive
units, attach them to the frame, as
shown. This is one of the times
when you will discover whether you
followed all the pre-insertion nut
instructions in previous parts of the
guide.



Read the next step before attaching
the drive units to make sure the
bearing stacks are correctly
installed.



Step 4 — Verify Drive Unit Bearing Stack Orientation

Using the diagram, check that the
bearing stacks are oriented
correctly. Backtrack and correct, if
necessary, before proceeding.



Voron 0 Assembly Guide: 06. A… Draft: 2020-08-22Guide ID: 84 -

This document was generated on 2024-01-08 11:43:51 PM (MST).

© 2024 voron.dozuki.com/ Page 5 of 6



Step 5

Voron 0 Assembly Guide: 07. Y/Z Endstops and Idlers

Voron 0 Assembly Guide: 06. A… Draft: 2020-08-22Guide ID: 84 -

This document was generated on 2024-01-08 11:43:51 PM (MST).

© 2024 voron.dozuki.com/ Page 6 of 6

https://voron.dozuki.com/Guide/Voron+0+Assembly+Guide:+07.+Y-Z+Endstops+and+Idlers/85

	Voron 0 Assembly Guide: 06. A/B Drive Units
	Written By: John Gilbert

	TOOLS:
	PARTS:
	Step 1 — Left B Drive Unit (Right A Unit is Mirrored)
	Step 2 — Left B Drive Unit Motor Attachment
	Step 3 — Attach Drive Units to Frame
	Step 4 — Verify Drive Unit Bearing Stack Orientation
	Step 5


